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1. fgUnh o.kZekyk esa ^v;ksxokg* o.kZ gS & 
(A) v] vk 
(B) b] bZ 
(C) m] Å 
(D) va] v% 

 9. fuEukafdr esa iqfYyax ‘kCn gS & 
(A) tM+rk 
(B) cq<+kik 
(C) ?kVuk 
(D) n;k 

2. ^K* fdlds esy ls cuk gS \ 
(A) t~ $ ´ 
(B) x $ ; 
(C) t $ ;¡ 
(D) x $ ;¡ 

 10. ^iq#”k* ‘kCn esa dkSu lh laKk gS \ 
(A) O;fDrokpd 
(B) tkfrokpd 
(C) Hkkookpd 
(D) nzO;okpd 

3. ^v)Z fojke* fpºu dk :i gS & 
(A) ! 
(B) % 
(C) ( 
(D) %& 

 11. ^eSa ?kj igq¡pk fd ikuh cjlus yxk vkSj ikuh bruk 
cjlk fd BaM c<+ xbZA* okD; gS & 
(A) lk/kkj.k 
(B) la;qDr 
(C) feJ 
(D) buesa ls dksbZ ugha 

4. ^xq#Ro* ‘kCn esa dkSu&lh laKk gS \ 
(A) tkfrokpd laKk 
(B) Hkkookpd laKk 
(C) O;fDrokpd laKk 
(D) nzO;okpd laKk 

 12. thoUufi dk laf/k foPNsn gS & 
(A) thou~ $ vfi 
(B) tho~ $ vUufi 
(C) thou $ vfi 
(D) tho $ u $ vfi 

5. ^izsl izfrfuf/k* ‘kCn gS & 
(A) ns’kt 
(B) rn~Hko 
(C) rRle 
(D) ladj ‘kCn 

 13. fdl ‘kCn esa f}xq lekl ugha gS \ 
(A) prqHkZqt 
(B) iapoVh 
(C) f}xq 
(D) f=os.kh 

6. nsoukxjh fyfi dk fodkl -------------------- ls gqvkA 
(A) [kjks”Bh&fyfi 
(B) czkãh&fyfi 
(C) dSFkh&fyfi 
(D) mi;qZä rhuksa 

 14. mi;qDr mŸkj nhft, &  
^^Å/kkS dk uk ysuk] uk ek/kkS dk nsukA** 

(A) >esyksa esa iM+dj vkuUn ysukA 
(B) lc >esyksa ls vyx jgukA 
(C) >esyksa ds chp yksxksa dks yk [kM+k djukA 
(D) Å/kkS ls ysdj Hkh ek/kkS dks u nsukA 

7. ^vuqxzg* ‘kCn dk foykse gS & 
(A) foxzg 
(B) fodkj 
(C) fojkx 
(D) fojDr 

 15. ^v.Ms dk ‘kgt+knk* eqgkojs dk vFkZ gS & 
(A) cpiu ls vehj 
(B) NksVh tkxhj dk ekfyd 
(C) cqf)eku 
(D) vuqHkoghu 

8. ^ioZr* ‘kCn dk dkSu&lk ‘kCn i;kZ;okph ugha gS \ 
(A) igkM+ 
(B) ux 
(C) vacqf/k 
(D) Hkw/kj 

 16. fuEufyf[kr esa ls dkSu lk dFku lR; gS \ 
(A) nksgk o lksjBk ds izFke pj.k esa 13&13 ek=k,¡ 

gksrh gSaA 
(B) nksgk o lksjBk ds f}rh; pj.k esa 13&13 ek=k,¡ 

gksrh gSaA 
(C) nksgk o lksjBk ds r̀rh; pj.k esa 13&13 ek=k,¡ 

gksrh gSaA 
(D) mi;qZä esa ls dksbZ ugha 

[SET-A] 67 (202)  Page-2  

17. ^chHkRl jl* dk LFkk;h Hkko gS & 
(A) foLe; 
(B) fuosZn 
(C) tqxqIlk 
(D) ‘kksd 

 19. ^rwQkuksa ds chp* fjiksrkZt ds ys[kd dk uke gS & 
(A) vèrjk; 
(B) jkaxs; jk?ko 
(C) fo”.kqdkar ‘kkL=h 
(D) Hkxor ‘kj.k 

18. ^’ks[kj % ,d thouh* fdl izdkj dh jpuk gS \ 
(A) dkO;&ladyu 
(B) miU;kl 
(C) vkRedFkk 
(D) dgkuh&laxzg 

 20. fdl /ofu ds mPpkj.k esa ukfldk ls vf/kd vkSj eq[k 
ls de lkal ckgj fudyrh gS \ 
(A) vuqLokj 
(B) O;atu 
(C) Loj 
(D) vuqukfld 

     
21. The trackball and touchpad are variation of 

the – 
(A) GPS Tracking 
(B) Mouse 
(C) TFT 
(D) None of the above 

 21. VªSdcky ,oa VpiSM :ikarj gS & 
(A) th0ih0,l0 VªSfdax ds 
(B) ekml ds 
(C) Vh0,Q0Vh0 ds 
(D) mijksä esa ls dksbZ ugha 

22. In which of the following districts is the 
Nachiketa lake located ? 
(A) Tehri 
(B) Uttarkashi 
(C) Nainital 
(D) Haridwar 

 22. ufpdsrk rky fuEu esa ls fdl ftys esa fLFkr gS \ 
(A) fVgjh 
(B) mŸkjdk’kh 
(C) uSuhrky 
(D) gfj}kj 

23. Nine days ago, Surya went to market. He goes 
to market only on Thursday. Which day is 
today ? 
(A) Thursday 
(B) Sunday 
(C) Tuesday 
(D) Saturday 

 23. ukS fnu igys lw;kZ ckt+kj x;kA og dsoy cg̀Lifrokj 
dks ckt+kj tkrk gSA vkt dkSu lk fnu gS \ 
(A) cg̀Lifrokj 
(B) jfookj 
(C) eaxyokj 
(D) ‘kfuokj 

24. In Uttarakhand “One Naali Land” is 
equivalent to how many square metre ? 
(A) 100 square metre 
(B) 150 square metre 
(C) 200 square metre 
(D) 300 square metre 

 24. mŸkjk[k.M esa ^^,d ukyh tehu** fdrus oxZ ehVj ds 
cjkcj gksrh gS \ 
(A) 100 oxZ ehVj 
(B) 150 oxZ ehVj 
(C) 200 oxZ ehVj 
(D) 300 oxZ ehVj 

25. The mouth of Volcano is known as – 
(A) Cone 
(B) Pipe 
(C) Crater 
(D) Vent 

 25. Tokykeq[kh dk eq¡g fdl uke ls tkuk tkrk gS \ 
(A) ‘kadq 
(B) ikbi 
(C) ØsVj 
(D) osUV 

26. In a joint family, there are father-mother, 
three married son and one unmarried daughter 
of the son two have two daughters each and 
one has a son. How many female members 
are there in a family ?  
(A) 9 
(B) 3 
(C) 6 
(D) 2 

 26. ,d la;qDr ifjokj esa ,d firk ekrk th rhu 
‘kknh’kqnk iq= o ,d vfookfgr iq=h jgrh gS nks iq=ksa 
ds 2&2 iqf=;k¡ vkSj ,d iq= gSA bl ifjokj esa dqy 
fdruh efgyk,¡ jgrh gSa \ 
(A) 9 
(B) 3 
(C) 6 
(D) 2  
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27. Pt. Govind Ballabh Pant National Museum is 
located at ? 
(A) Tehri 
(B) Pithoragarh 
(C) Uttarkashi 
(D) Almora 

 27. ia0 xksfoUn cYyHk iUr jktdh; laxzgky; dgk¡ fLFkr 
gS \ 
(A) fVgjh 
(B) fiFkkSjkx<+ 
(C) mŸkjdk’kh 
(D) vYeksM+k 

28. An optical mouse uses ______ to judge the 
distance, direction and speed of its travel. 
(A) Ball 
(B) Rings 
(C) Rollers 
(D) Light beam 

 28. ,d vkfIVdy ekml nwjh] fn’kk rFkk xfr dks ekius 
ds fy;s -------------------- dk iz;ksx djrk gSA 
(A) ckWy 
(B) fjaXl 
(C) jksyj 
(D) ykbV che 

29. Which of the given letters will complete the 
following series – 

a b __ c a b __ b c c __ __ a __ c __ a b 
(A) c b a b a b 
(B) c a a b b c 
(C) b a b a c a 
(D) c a b b a c 

 29. fn;s x, dkSu ls v{kj fuEufyf[kr Js.kh dks iwjk djsaxs  
a b __ c a b __ b c c __ __ a __ c __ a b 

(A) c b a b a b 
(B) c a a b b c 
(C) b a b a c a 
(D) c a b b a c 

30. When was the debating club established in 
Almora ? 
(A) 1865 
(B) 1868 
(C) 1869 
(D) 1870 

 30. vYeksM+k esa fMcsfVax Dyc dh LFkkiuk dc dh xbZ Fkh \ 
(A) 1865 
(B) 1868 
(C) 1869 
(D) 1870 

31. Where in the confluence of rivers “Kali and 
Gori” ? 
(A) Haridwar 
(B) Ramnagar 
(C) Jauljibi 
(D) Baijnath 

 31. ^^dkyh ,oa xksjh** unh dk laxe dgk¡ gS \ 
(A) gfj}kj 
(B) jkeuxj 
(C) tkSythoh 
(D) cStukFk 

32. If DELHI is coded as 73541 and CALCUTTA 
as 82589662, how will CALICUT be coded ? 
(A) 5279431 
(B) 5978213 
(C) 8251896 
(D) 8543691 

 32. ;fn DELHI dk dksM 73541 vkSj CALCUTTA 
dk 82589662 gks rks CALICUT dk dksM gksxk \ 
(A) 5279431 
(B) 5978213 
(C) 8251896 
(D) 8543691 

33. Which of the following reservoir is in 
Uttarakhand ? 
(A) Nanaksagar 
(B) Bahgul 
(C) Haripur 
(D) All of the above 

 33. fuEu esa dkSu lk tyk’k; mŸkjk[k.M esa fLFkr gS \ 
(A) ukudlkxj 
(B) csxqy 
(C) gfjiqj 
(D) mi;qZä lHkh 

34. Administrative training Institute in 
Uttarakhand is situated at – 
(A) Dehradun 
(B) Nainital 
(C) Haldwani 
(D) Rishikesh 

 34. iz'kklfud izf’k{k.k laLFkku mŸkjk[k.M esa fLFkr gS & 
(A) nsgjknwu 
(B) uSuhrky 
(C) gY}kuh 
(D) _f”kds’k 
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35. If 1 is subtracted from the third digit of each 
of the given numbers and first and third digits 
are interchanged then what will be second 
digit of the smallest number so formed ? 

568,  285,  793,  414,  825 
(A) 2 
(B) 9 
(C) 8 
(D) 6 

 35. ;fn nh xbZ izR;sd la[;k ds rhljs vad esa ls 1 ?kVk 
fn;k tk, rFkk igys o rhljs vad dk LFkku ifjofrZr 
dj fn;k tk,] rks bl izdkj cuh lcls NksVh la[;k 
dk nwljk vad D;k gksxk \ 

568,  285,  793,  414,  825 
(A) 2 
(B) 9 
(C) 8 
(D) 6 

36. Traditional Odani of Kumaun is called 
‘Rangawali Pichhoda’ because of its – 
(A) Colour 
(B) Designing 
(C) Colour and designing 
(D) Sign of Swastik 

 36. dqekÅ¡ {ks= dh ijEijkxr vks<+uh dks ^jaxkoyh 
fiNkSM+k** dgk tkrk gSA bldk dkj.k gS & 
(A) jax 
(B) dykÑfr@fp=kadu 
(C) jax o dykÑfr@fp=kadu 
(D) LokfLrd fpºu 

37. When and where did ‘Maiti’ movement 
started ? 
(A) 1995 Gwaldam Chamoli 
(B) 2005 Nagnath Chamoli 
(C) 2007 Joshimath Chamoli 
(D) 2013 Noti Chamoli 

 37. eSrh vkUnksyu dc vkSj dgk¡ ‘kq: gqvk Fkk \ 
(A) 1995 Xokyne peksyh ls 
(B) 2005 ukxukFk peksyh 
(C) 2007 tks’kheB peksyh 
(D) 2013 ukSVh peksyh 

38. Choose out the odd one ? 
(A) Himachal Pradesh 
(B) Chandigarh 
(C) Punjab 
(D) Haryana 

 38. fo"ke dks pqfu, \ 
(A) fgekpy izns’k 
(B) p.Mhx<+ 
(C) iatkc 
(D) gfj;k.kk 

39. Where was “Pragya Mandal” organisation 
formed in 1939 ? 
(A) Dev Prayag 
(B) Pauri 
(C) Nainital 
(D) Dehradun 

 39. ^^izKke.My** uked laLFkk dh LFkkiuk 1939 esa dgk¡ 
gqbZ Fkh \ 
(A) nsoiz;kx 
(B) ikSM+h 
(C) uSuhrky 
(D) nsgjknwu 

40. Which town in Uttarakhand is situated on the 
bank of the river “Saryu and Gomti” ? 
(A) Gopeshwar 
(B) Bageshwar 
(C) Rudraprayag 
(D) Devprayag 

 40. mŸkjk[k.M ds **lj;w ,oa xkserh** unh ds rV ij clk 
uxj dkSu lk gS \ 
(A) xksis’oj 
(B) ckxs’oj 
(C) #nziz;kx 
(D) nsoiz;kx 

41. Find the missing number – 
 
 
 
 
(A) 37 
(B) 35 
(C) 45 
(D) 47 

 41. yqIr la[;k dh [kkst dhft, & 
 
 
 
 
(A) 37 
(B) 35 
(C) 45 
(D) 47 

3       5 
    39 
6        3 

(A) 

4       7 
    51 
5        4 

(B) 

3       5 
     ? 
5        4 

(C) 

3       5 
    39 
6        3 

(v) 

4       7 
    51 
5        4 

(c) 

3       5 
     ? 
5        4 

(l) 
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42. 1 KB is equal to – 
(A) 1000 Bytes 
(B) 100 Bytes 
(C) 1024 Bites 
(D) 1024 Bytes 

 42. 1 fdyks ckbV cjkcj gS & 
(A) 1000 ckbV 
(B) 100 ckbV 
(C) 1024 fcV~l 
(D) 1024 ckbV~l 

43. A Bar Code Reader converts individuals bar 
patterns into – 
(A) Images 
(B) Bars 
(C) Numeric digits 
(D) None of the above 

 43. ,d ckj dksM jhMj izR;sd ckj iSVuZ dks ifjofrZr djrk gS& 
(A) best esa (Image) 
(B) ckj esa (Bars) 
(C) U;wesfjd fMftV esa (Numeric Digit) 
(D) mijksä esa ls dksbZ ugha 

44. In which tribe of Uttarakhand matriarchal 
system is popular ? 
(A) Boksa 
(B) Bhotiya 
(C) Jaunsari 
(D) Tharu 

 44. ekr̀lŸkk O;oLFkk mŸkjk[k.M dh fdl tutkfr esa 
yksdfiz; gS \ 
(A) cksDlk 
(B) HkksfV;k 
(C) tkSulkjh 
(D) Fkk# 

45. Occurrence of events in a process –  
1- Puberty  2- Adulthood  3- Childhood  
4- Infancy  5- Senescence  6- Adolescence  
(A) 2, 4, 6, 3, 1, 5 
(B) 4, 3, 1, 6, 2, 5 
(C) 4, 3, 6, 2, 1, 5 
(D) 5, 6, 2, 3, 4, 1 

 45. ,d izfØ;k esa ?kVukvksa dk ?kfVr gksuk & 
1& ;kSoukoLFkk  2& izkS<+koLFkk  3& ckY;koLFkk 
4& ‘kS’okLFkk  5& cq<+kik  6& fd’kksjkoLFkk 
(A) 2, 4, 6, 3, 1, 5 
(B) 4, 3, 1, 6, 2, 5 
(C) 4, 3, 6, 2, 1, 5 
(D) 5, 6, 2, 3, 4, 1 

46. ‘Paataal Bhuvneshwar” cane is situated in 
which district ? 
(A) Nainital 
(B) Pithoragarh 
(C) Chamoli 
(D) Uttarkashi 

 46. ^^ikrky Hkqous’oj xqQk** fdl tuin esa fLFkr gS \ 
(A) uSuhrky 
(B) fiFkkSjkx<+ 
(C) peksyh 
(D) mŸkjdk’kh 

47. On 26th March, 2003 State Government 
announced the new industrial policy. What 
are its main objectives ? 
(A) To provide alternative modes of 

employment. 
(B) To create a friendly environment for 

investors. 
(C) To promote tourism as an ‘focus area’. 
(D) All of the above  

 47. 26 ekpZ 2003 dks jkT; ljdkj }kjk ubZ vkS|ksfxd uhfr 
dh ?kks”k.kk dh xbZA bl uhfr ds izeq[k mís’; D;k gSa \ 
(A) jkstxkj ds vfrfjDr volj miyC/k djkukA 
(B) fuos’kdksa dks vkeaf=r djus ds fy, eS=hiw.kZ 

okrkoj.k rS;kj djukA 
(C) i;ZVu dks ^Qksdl ,fj;k* ds :i esa izksRlkfgr 

djukA 
(D) mi;qZä lHkh 

48. Nauti region of Chamoli is famous for 
production of – 
(A) Paper 
(B) Cement 
(C) Organic tea 
(D) Cloth 

 48. peksyh ftys dk ukSVh {ks= fdl mRiknu ds fy, 
izfl) gS \ 
(A) dkxt 
(B) lhesUV 
(C) vkxsZfud pk; 
(D) oL= 

49. In the word ‘APPLE’ how many letters 
occupy the same position as they occupy in 
English alphabet ? 
(A) 1 
(B) 2 
(C) 3 
(D) None  

 49. ‘APPLE’ ‘kCn esa fdrus v{kj mlh fLFkfr esa gSa 
ftl fLFkfr esa os vaxzsth o.kZekyk eas gSa \ 
(A) 1 
(B) 2 
(C) 3 
(D) dksbZ ugha 
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50. Who was the first Chief Minister of 
Uttarakhand ? 
(A) Bhagat Singh Koshyari 
(B) Nityanand Swami 
(C) N.D. Tewari 
(D) Ramesh Pokhariyal ‘Nishank’ 

 50. mŸkjk[k.M ds izFke eq[;ea=h dkSu Fks \ 
(A) Hkxr flag dks’;kjh 
(B) fuR;kuUn Lokeh 
(C) ,u0Mh0 frokjh 
(D) jes’k iks[kfj;ky ^fu’kad* 

51. Jim Carbett National Park was established – 
(A) 1940 
(B) 1935 
(C) 1936 
(D) None of the above 

 51. fte dkcsZV us’kuy ikdZ LFkkfir fd;k x;k Fkk & 
(A) 1940 esa 
(B) 1935 esa 
(C) 1936 esa 
(D) buesa ls dksbZ ugha 

52. Who among the following kings of Chand 
dynasty had constructed the ‘Rajbunga’ fort 
in Champawat ? 
(A) Vikramchandra 
(B) Ramchandra 
(C) Krishnachandra 
(D) Somchandra 

 52. pEikor esa ^jktcqaxk* uked fdyk fdl pan oa’kh; 
jktk }kjk cuok;k x;k \ 
(A) foØepUnz 
(B) jkepUnz 
(C) Ñ”.kpUnz 
(D) lksepUnz 

53. Rectangle : Pentagon  : :  ? 
(A) Side : Angle  
(B) Diagonal : Perimeter 
(C) Triangle : Rectangle  
(D) None of these 

 53. vk;r % iapdks.k  % %  \ 
(A) Hkqtk % dks.k 
(B) d.kZ % ifjf/k 
(C) f=Hkqt % vk;r 
(D) buesa ls dksbZ ugha 

54. The History of which region is related with 
“Raj Tarangni” of Kalhan ? 
(A) Uttarakhand 
(B) Himachal Pradesh 
(C) Kashmir 
(D) Asam 

 54. ^^dYg.k** }kjk jfpr ^^jktrajx.kh** fdl {ks= ds 
bfrgkl ls lEcfU/kr gS \ 
(A) mŸkjk[k.M 
(B) fgekpy izns’k 
(C) d’ehj 
(D) vle 

55. Where are the tea gardens in Uttarakhand ? 
(A) Chaukori 
(B) Berinag 
(C) Gwaldam 
(D) All of the above 

 55. mŸkjk[k.M esa pk; ckxku dgk¡ ij gS \ 
(A) pkSdksM+h 
(B) csjhukx 
(C) Xokyne 
(D) mijksä lHkh txg 

56. Who is Disha Patni ? 
(A) Sports man 
(B) Film Actress 
(C) Singer 
(D) Journalist 

 56. ^fn’kk ikVuh* dkSu gS \ 
(A) f[kykM+h 
(B) flus rkfjdk 
(C) xkf;dk 
(D) i=dkj 

57. Madhumita Bisht is international player of 
which of the following sports ? 
(A) Chess 
(B) Cricket 
(C) Hockey 
(D) Badminton 

 57. e/kqferk fc”V fuEu esa ls fdl [ksy dh vUrjkZ”Vªh; 
f[kykM+h gS \ 
(A) ‘krjat 
(B) fØdsV 
(C) gkWdh  
(D) cSMfeUVu 

58. Find the missing letters in the given series – 
b a a b __ a b a __ __ b a b a __ 

(A) b b a a 
(B) a b a b 
(C) b a b a 
(D) b b b b  

 58. nh xbZ Jà[kyk esa yqIr v{kj Kkr djsa & 
b a a b __ a b a __ __ b a b a __ 

(A) b b a a 
(B) a b a b 
(C) b a b a 
(D) b b b b 
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59. The famous News paper in Garhwal, 
“Garhwal Samachar Masik” was first time 
published in – 
(A) 1886 
(B) 1902 
(C) 1905 
(D) 1907 

 59. x<+oky ds izeq[k lekpkj i= ^^x<+oky lekpkj 
ekfld** dk izFke ckj izdk’ku gqvk Fkk & 
(A) 1886 
(B) 1902 
(C) 1905 
(D) 1907 

60. From which period Colonial Conflict started 
in Uttarakhand ? 
(A) Mughals 
(B) Gorkhas 
(C) Dogras 
(D) Britishers  

 60. mŸkjk[k.M esa vkSifuosf’kd la?k”kZ dk izkjEHk fdlds 
le; ls gqvk Fkk \ 
(A) eqxyksa 
(B) xksj[kkvksa 
(C) Mksxjk 
(D) vaxzstksa 

61. ‘Tarun-Kumaun’ was established in – 
(A) 1917 
(B) 1922 
(C) 1928 
(D) 1930 

 61. ^r#.k&dqek;w¡* dh LFkkiuk gqbZ Fkh & 
(A) 1917 
(B) 1922 
(C) 1928 
(D) 1930 

62. What is the sex ratio in Uttarakhand 
according to the census 2011 ? 
(A) 927 
(B) 915 
(C) 963 
(D) 971 

 62. 2011 dh tux.kuk ds vuqlkj mŸkjk[k.M esa 
fyaxkuqikr D;k gS \ 
(A) 927 
(B) 915 
(C) 963 
(D) 971 

63. 7345  :  7220  : :  2537  :  ? 
(A) 2662 
(B) 507·4 
(C) 2412 
(D) 2345 

 63. 7345  :  7220  : :  2537  :  ? 
(A) 2662 
(B) 507·4 
(C) 2412 
(D) 2345 

64. Which of the following fair is a ‘Cattle fair’ ? 
(A) Gochar fair 
(B) Joljibi fair 
(C) Somnath fair 
(D) Shravani fair 

 64. fuEufyf[kr esa ls dkSu lk esyk ^i’kq esyk* gS \ 
(A) xkSpj esyk 
(B) tkSythch esyk 
(C) lkseukFk esyk 
(D) Jkouh esyk 

65. Kedarnath tragedy took place – 
(A) 15 – 16 June, 2012 
(B) 16 – 17 June, 2014 
(C) 16 – 17 June, 2013 
(D) None of the above 

 65. dsnkjukFk nq?kZVuk ?kfVr gqbZ & 
(A) 15 & 16 twu] 2012 
(B) 16 & 17 twu] 2014 
(C) 16 & 17 twu] 2013 
(D) buesa ls dksbZ ugha 

66. If H represents ‘Hour’ then what is 
represented by K ? 
(A) Kite 
(B) Know 
(C) Kettle 
(D) King 

 66. ;fn H ‘Hour’ dks iznf’kZr djrk gS] rks K fdldks 
iznf’kZr djrk gS \ 
(A) Kite 
(B) Know 
(C) Kettle 
(D) King 

67. A program that controls the computer 
hardware is – 
(A) Application Software 
(B) Compiler 
(C) Controller 
(D) System Software 

 67. dEI;wVj gkMZos;j dks daVªksy djus okyk izksxzke gS & 
(A) ,fIyds’ku lk¶Vos;j 
(B) dEikbyj 
(C) dUVªksyj 
(D) flLVe lk¶Vos;j 
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68. National parks and sanctuaries are for –  
(A) Recreation 
(B) Hunting 
(C) Pet animals  
(D) Conservation  

 68. us'kuy ikdZ vkSj i’kqfogkj cuk;s x;s gSa & 
(A) euksjatu ds fy, 
(B) f’kdkj ds fy, 
(C) ikyrw thoksa ds fy, 
(D) laj{k.k ds fy, 

69. On which river Heerakund dam project is 
constructed ? 
(A) Satlaj  
(B) Chambal 
(C) Mahanadi 
(D) Sone 

 69. ghjkdq.M cka/k ifj;kstuk fdl unh ij fufeZr gS \ 
(A) lryt 
(B) pEcy 
(C) egkunh 
(D) lksu 

70. Lively : Dull : ? 
(A) Employed : Jobless 
(B) Flower : Bud 
(C) Factory : Labour 
(D) Happy : Gay 

 70. lfØ; % lqLr % \ 
(A) dk;Zjr % csjkstxkj 
(B) iq”i % dyh 
(C) QSDVjh % etnwj 
(D) [kq’k % leySafxd 

71. Which of following is highest dam in India ? 
(A) Bhakra dam 
(B) Tehri dam 
(C) Pong dam 
(D) Nagal dam 

 71. Hkkjr dk lcls Å¡pk cka/k fuEu esa ls dkSu gS \ 
(A) Hkk[kM+k ck¡/k 
(B) fVgjh ck¡/k 
(C) iksax ck¡/k 
(D) ukxy ck¡/k 

72. The initiator of ‘Chipko Movement’ in 
Uttarakhand was – 
(A) Gaura Devi 
(B) Sarla Ben 
(C) Radha Bhatt 
(D) Teelu Rauteli 

 72. mŸkjk[k.M esa ^fpidks vkUnksyu* dh iz.ksrk Fkh & 
(A) xkSjk nsoh 
(B) ljyk csu 
(C) jk/kk Hkê 
(D) rhyw jkSrsyh 

73. What is lignite ? 
(A) Type of coal 
(B) Type of Iron 
(C) Igneous rock 
(D) None of the above 

 73. fyxukbV D;k gS \ 
(A) dks;ys dh fdLe 
(B) yksgs dh fdLe 
(C) vkXus; pêku 
(D) mijksä esa ls dksbZ ugha 

74. Which one of the following is rabi crop ? 
(A) Gram 
(B) Rice 
(C) Maize 
(D) Bazera 

 74. fuEu esa ls jch dh Qly dkSu lh gS \ 
(A) puk 
(B) pkoy 
(C) eDdk 
(D) cktjk 

75. Complete the given series – 
AZ25,  BY23,  CX21 

(A) DV 17 
(B) DT 16 
(C) DV 19 
(D) DW 19 

 75. nh xbZ Jà[kyk iwjh djsa & 
AZ25,  BY23,  CX21 

(A) DV 17 
(B) DT 16 
(C) DV 19 
(D) DW 19 

76. Which of the following state touches 
maximum number of states in India ? 
(A) Rajasthan 
(B) Madhya Pradesh 
(C) Delhi 
(D) Uttar Pradesh 

 76. fuEu esa ls dkSu lk jkT; lcls vf/kd jkT;ksa ls lhek 
cukrk gS \ 
(A) jktLFkku 
(B) e/; izns’k 
(C) fnYyh 
(D) mŸkj izns’k 
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77. Forest Research Institute is located at – 
(A) Ranikhet 
(B) Dehradun 
(C) Pauri 
(D) Nainital 

 77. ^ou vuqla/kku laLFkku* fLFkr gS & 
(A) jkuh[ksr 
(B) nsgjknwu 
(C) ikSM+h 
(D) uSuhrky 

78. Which of the following is not a sites of 
Kumbh Mela ? 
(A) Haridwar 
(B) Ujjain 
(C) Puskar 
(D) Nasik 

 78. fuEu esa ls fdl LFkku ij dqEHk esyk vk;ksftr ugha 
gksrk gS \  
(A) gfj}kj 
(B) mTtSu 
(C) iq”dj 
(D) ukfld 

79. What is the Diameter of the hole of Golf ? 
(A) 4 inches 
(B) 5 inches 
(C) 6 inches 
(D) 3 inches 

 79. xksYQ ds fNnz dk O;kl fdruk gksrk gS \ 
(A) 4 bap 
(B) 5 bap 
(C) 6 bap 
(D) 3 bap 

80.  
 
 
      

(A) 3 
(B) 4 
(C) 5 
(D) 9 

 80.  
 
 
 

(A) 3 
(B) 4 
(C) 5 
(D) 9 

81. Where was thirty-first Olympics in year 2016 
was held ? 
(A) Brazil 
(B) Sydney 
(C) Atlanta 
(D) Seoul 

 81. 31oka vksyafid 2016 esa dgk¡ gqvk \ 
(A) czkthy 
(B) flMuh 
(C) vVykaVk 
(D) fl;ksy 

82. In which District of Uttarakhand ‘Kamet 
Mountain’ is situated ? 
(A) Chamoli 
(B) Nainital 
(C) Almora 
(D) Pauri 

 82. ^dker ioZr* mŸkjk[k.M ds fdl ftys esa fLFkr gS \ 
(A) peksyh 
(B) uSuhrky 
(C) vYeksM+k 
(D) ikSM+h 

83. When and where was India’s first test tube 
baby born ? 
(A) In Delhi on 8th August 1988 
(B) In Kolkata on 9th August 1989 
(C) In Mumbai on 6th August 1986 
(D) In Kanpur on 7th August 1986 

 83. Hkkjr ds izFke ^VsLV V~;wc csch* dk tUe dc vkSj 
dgk¡ gqvk \ 
(A) fnYyh esa 8 vxLr 1988 dks 
(B) dydŸkk esa 9 vxLr 1989 dks 
(C) eqEcbZ esa 6 vxLr 1986 dks 
(D) dkuiqj esa 7 vxLr 1986 dks 

84. Schizophrenia is related to – 
(A) Psychological disease 
(B) Physical disease 
(C) Mental disease 
(D) None of the above 

 84. lkbtksÝsfu;k lEcfU/kr gS & 
(A) euksoSKkfud jksx 
(B) ‘kkjhfjd jksx 
(C) ekufld jksx 
(D) buesa ls dksbZ ugha 
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85. What will come in the place of question mark 
(?) ? 

B : 5  : :  D : ? 
(A) 21  
(B) 25 
(C) 16 
(D) 17 

 85. iz'u fpUg ¼\½ ds LFkku ij fuEu fodYiksa esa ls D;k 
vk;sxk \ 

B : 5  : :  D : ? 
(A) 21 
(B) 25 
(C) 16 
(D) 17 

86. Who was the first ruler to inscribe his 
messages to his subjects and officials on rock 
pillars ? 
(A) Ashoka 
(B) Chandragupta 
(C) Harshvardhan 
(D) Samudragupta 

 86. viuh iztk o vf/kdkfj;ksa gsrq f’kyk LraHkksa ij lans’k 
vafdr djus okyk izFke ‘kkld dkSu Fkk \ 
(A) v’kksd 
(B) pUnzxqIr 
(C) g”kZo/kZu 
(D) leqnzxqIr 

87. Which revolt known as ‘BARDOLI OF 
KUMAUN’ ? 
(A) Askot revolt 
(B) Saklama revolt 
(C) Tilari revolt  
(D) Salt revolt 

 87. fdl fonzksg dks ^dqekÅ¡ ds ckjMksyh* ds uke ls tkuk 
tkrk gS \ 
(A) vLdksV fonzksg 
(B) ldykuk fonzksg 
(C) frykM+h fonzksg 
(D) lYV fonzksg 

88. When did Battle of Plassey take place ? 
(A) 1757 
(B) 1762 
(C) 1743 
(D) 1752 

 88. Iyklh dk ;q) dc gqvk \ 
(A) 1757 
(B) 1762 
(C) 1743 
(D) 1752 

89. ‘Mansabdari system’ is related to which of the 
following ? 
(A) With Army 
(B) With Justice 
(C) With Finance 
(D) All of these 

 89. ^eulcnkjh izFkk* dk laca/k fuEufyf[kr esa ls fdlls 
gS \ 
(A) lsuk ls 
(B) U;k; ls 
(C) foŸk ls 
(D) lHkh ls 

90. If the 25th of August in a year is Thursday, the 
number of Mondays in that month is ? 
(A) 3 
(B) 4 
(C) 5 
(D) 6 

 90. ;fn fdlh o”kZ esa 25 vxLr dks xq#okj Fkk rks ml 
ekg esa lkseokj dh la[;k dh x.kuk dhft, & 
(A) 3 
(B) 4 
(C) 5 
(D) 6 

91. In which year Akbar started the construction 
of ‘Agra Fort’ ? 
(A) In 1565 
(B) In 1566 
(C) In 1567 
(D) In 1568 

 91. vdcj us ^vkxjk ds fdys* dk fuekZ.k dc izkjEHk 
djk;k \ 
 (A) 1565 
(B) 1566 
(C) 1567 
(D) 1568 

92. Kapkot tehsil is in which of the following 
district ? 
(A) Bageshwar 
(B) Champawat 
(C) Haridwar 
(D) Pauri 

 92. didksV rglhy dkSu ls ftys esa gS \ 
(A) ckxs’oj 
(B) pEikor 
(C) gfj}kj 
(D) ikSM+h 
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93. Who constructed the famous ‘Mandu’ fort ? 
(A) Hussain Shah 
(B) Baajbhadur 
(C) Mohmmad Shah 
(D) None of these 

 93. ^ek.Mw* ds izfl) fdys dk fuekZ.k fdlus djok;k Fkk \ 
(A) gqlSu’kkg 
(B) cktcgknqj 
(C) eksgEen ‘kkg 
(D) buesa ls dksbZ ugha 

94. How many times in a day the hands of a clock 
are straight ? 
(A) 44 
(B) 22 
(C) 24 
(D) 48 

 94. ,d fnu esa fdruh ckj ?kM+h dh lwbZ;k¡ lh/kh gksrh gSa \ 
(A) 44 
(B) 22 
(C) 24 
(D) 48 

95. Who is the founder of Ramkrishna mission ? 
(A) Raja Rammohan Roy 
(B) Swami Dayanand Saraswati 
(C) Swami Vivekanand 
(D) Keshvachandra Sen 

 95. jkeÑ”.k fe’ku ds laLFkkid dkSu Fks \ 
(A) jktk jkeeksgu jk; 
(B) Lokeh n;kuUn ljLorh 
(C) Lokeh foosdkuUn 
(D) ds’kopUnz lsu 

96. When was Bihar separated from Bengal ? 
(A) 1910 
(B) 1921 
(C) 1912 
(D) 1947 

 96. fcgkj] caxky ls vyx dc gqvk \ 
(A) 1910 esa 
(B) 1921 esa 
(C) 1912 esa 
(D) 1947 esa 

97. Malaria : Disease  : : Spear  : ? 
(A) Death 
(B) Sword 
(C) Weapon 
(D) Wounded 

 97. eysfj;k % chekjh  % %  Hkkyk % \ 
(A) èR;q 
(B) ryokj 
(C) gfFk;kj 
(D) ?kk;y 

98. Who is known as the father of history ? 
(A) Hippocrates 
(B) Copernicus 
(C) Homer  
(D) Herodotus 

 98. bfrgkl dk firk fdldks ekuk tkrk gS \ 
(A) fgIiksØsV~l 
(B) dkWijfudl 
(C) gksej 
(D) gSjksMksVl  

99. Which fourth generation supersonic plane is 
to replace Mig-21 aircrafts in the Indian Air 
force ? 
(A) Tejas 
(B) Surya 
(C) Bhaskar 
(D) Bhanu 

 99. Hkkjrh; ok;qlsuk esa fex&21 foekuksa dk LFkku ysus dh 
izfØ;k esa pkSFkh Iyl ih<+h ds lqij lksfud foeku dk 
D;k uke gS \ 
(A) rstl 
(B) lw;Z 
(C) HkkLdj 
(D) Hkkuq 

100. When is the world’s sailor day celebrated ? 
(A) 25th June 
(B) 24th June 
(C) 23rd June 
(D) 22nd June 

 100. varjkZ”Vªh; ukfod fnol fdl fnu euk;k tkrk gS \ 
(A) 25 twu 
(B) 24 twu 
(C) 23 twu 
(D) 22 twu 

 

*****  
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Rough Work 
(jQ dk;Z) 


